ol
O
T
7))
X7
O
<C
an]
O
LL]
T
Z
-
©,
=
1
_
<
=
o
S
<
N
™
=
S

D

CENTER-STRUT® WALL-MOUNTED BACKSTOP FOR FAN BACKBOARD

6" and 1'-0" EXTENSIONS

SEE SHEET W-100 FOR
RECOMMENDED METHODS

TUBE LOCATIONS &

2u1)"

984" (2.96m)
TO FLOOR

ANCHOR SPACING

Dnnmn WALL MOUNT SPECIFICATION SHEET =~ w-s12-rr

WW.PORTERATHLETIC.COM/FACILITY

10/1/2015

PARTS LIST

Z
o

. |QTY.

DESCRIPTION

BACKBOARD:

211" (88.9cm)

1L54"
(44.5cm)

1L54"
(44.5cm

)

GOAL WITH NET AND HARDWARE

XEXT 3120_ 002

EXTENSION TUBE w/BACKBOARD PLATE

G BACKSTOP

XEXT 3120_ 002

EXTENSION TUBE w/GOAL PLATE

XPAD 20602 00B

2 x 6 WOOD PAD x 2'-0" Lg.

XPAD 20604 00B

2 x 6 WOOD PAD x 4'-0" Lg.

OF WALL ANCHORING

HDWE XXXXX 0EOQ

3/8" x

HDWE 02057 OEO

3/8" x 2J4" Lg. CARRIAGE BOLT (Grade 5)

Ol |N[o|a|~(wN]|=
[o>) N =Y PN BN | )| IR RN

HDWE 04002 OEO

3/8" LOCKWASHER

=
o
N N

oo

HDWE 03002 OEO

3/8" HEX NUT

FAN FIBERGLASS AND
ALUMINUM BACKBOARDS:
3/8"x 1"

DRILL AND COUNTERBORE WOOD PADS AS CAP SCREW
SHOWN FOR 3/8" x 2/4" Lg. CARRIAGE BOLTS -

6 PLACES
Dor(D
3

RECT. FIBERGLASS
BACKBOARD:

38" x 1"

CAP SCREW
10)9)8
GLASS AND

STEEL BACKBOARDS:
3/8" x 14" Lg.

10)  CARRIAGE BOLT

OO

=

\@

[T

=
»

_ 6" (15.3cm) or 1'-0" (30.5cm)

/

PORTER RECOMMENDS THE USE OF SAFETY WALL PADDING BEHIND BASKETBALL BACKSTOPS. SEE
SPECIFICATIONS FOR STANDARD, FIRE-RETARDANT, AND GRAPHIC WALL PADDING. SPECIFY AS REQUIRED.

)

- REQUIRED - SPECIFY BACKBOARD No.

2'-11" (88.9cm

ANCHOR SPACING

)

TUBE LOCATIONS &

8"

203 10.2cm

et

2u1p"

— 1+ @ +

40.6cm

98}
(2.96m)
TO FLOOR

AND GOAL No.

WOOD PAD AND
WALL ANCHOR SPACING

ORC

[J 234  ALUMINUM _

ALUMINUM "G _OF BACKBOARD

TO WALL
FIBERGLASS
RECT. FIBERGLASS

0 234A
[ 267A
0216

PROJECT NUMBER
PROJECT NAME

=5

(

IREE

888-277-7778 PORTER@PORTERATHLETIC.COM
COPYRIGHT 2015 PORTER ATHLETIC - ALL RIGHTS RESERVED

=) (

L



00312-000 - WALL-MOUNTED BACKSTOP

CENTER-STRUT® WALL-MOUNTED BACKSTOP FOR FAN BACKBOARD
6" and 1'-0" EXTENSIONS

SPECIFICATIONS

PORTER No. 00312- CENTER-STRUT® WALL-BRACED BACKSTOP
FOR FAN BACKBOARD AND RECTANGULAR FIBERGLASS BACKBOARD

Backstop shall be wall-braced type. Backstop shall be available in two extensions, with face
of backboard extended 6" from supporting wall, or 1'-0" from supporting wall. Specify 6" or
1'-0" extension.

Extension frames shall be fabricated of three (3) 1-7/8" O.D. tubes. Both ends of extension
frame assemblies shall terminate in heavy steel flanges for attachment to backside of
backboard and wall pad attachments. Goal shall mount directly through the backboard and
into a heavy steel flange Center-Strut® at the lower extension frame to eliminate any strain
on the backboard, should a player hang on the front mounted goal.

Southern yellow pine wall pads shall be provided at all wall attachment points. All edges
shall be chamfered and pads shall be finished with two finish coats of natural gloss lacquer.

All metal parts shall be painted one (1) coat of flat black enamel. (If special painting of colors
is required, specify final painting by painting contractor.)

Specify backboard and goal as required.

ISSUED OCTOBER 1, 2015, SUBJECT TO CURRENT MANUFACTURING PROCEDURES AND CHANGES
COPYRIGHT 2015 - PORTER ATHLETIC - ALL RIGHTS RESERVED
PORTER@PORTERATHLETIC.COM

ALITIOVH/IWOD JILITHLYHILHOd " MMM

=#zem | 33HS NOILYDIAI03dS LNNOW TIVM Haqaod

10/1/2015



	W-312-FF Model (1)
	W-312-FF Model (2)

